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ANSWERS TO THE QUESTIONS ON ASTRONOMY AND ASTROPHYSICS

F.M. Kanarev

E-mail: kanphil@mail.ru

Announcement. The erroneous physical theories have produced many errors in the interpretation of the astronomical phenomena and processes. Let us demonstrate in what way the new theory of microworld destroys the astrophysical card-castles of “the Big Bang”, “black holes”, “the expanding universe”, “dark matter” and other astrophysical myths.
1722. Why is density of the solar system planets starting from the Sun large, then it becomes smaller and then it is increased insignificantly again? The analysis shows that density of the starts, including the Sun, is changed form its centre to the surface as well. The regularity of this change is similar to the regularity of a change of density of the planets according to farness from the Sun.
1723. Can the regularity of the change of density of the solar system planets serve as a basis for an analysis of a hypothesis of the formation of the solar system planets from a star, which passed the Sun? Such reason exists. The analysis of this reason, which has been carried out by us, has shown that the calculations results confirm reliability of the hypothesis concerning a formation of the solar system planets from the star, which passed the Sun. Inertial force involved this star into the orbital motion round the Sun.
1724. What is the essence of the main condition of the plant formation from the star, which was involved in the orbital motion by the Sun? The star is a plasma slightly connected state. In order to separate in into fractions, centrifugal force of inertia, which exerts influence on the star in the initial time of its motion round the Sun, should exceed gravitation force of the Sun. The calculation results given in Table in Fig. 178 prove an availability of such condition. 
They demonstrate that centrifugal force of inertia exceeded gravitation force of the Sun on all orbits of the modern planets when the parts of the star, out of which they were produced, arrived to them. 

There are reasons to believe that the primeval radii of the planetary orbits were larger than the modern ones. As a result, centrifugal forces of inertia were larger than those, which are given in Table in Fig. 178; gravitation forces of the Sun, which had influence with the primeval planets, were smaller. It strengthened an effect of a separation of more closely connected nuclear part of plasma of the star from its less connected upper part. As a result, the upper, less dense part of plasma of the star was receded by inertial force from its main part. The receding part of plasma of the star could loose smaller portions of plasma; the planet satellites, including the Moon, were formed out of them. 

1725. The calculations show that the difference between inertial force and the Sun gravitation force of the planets, which are removed from the Sun, is less than of the planets with smaller radii of the orbits. How has it affected the planet formation process being described? The thing is that the modern radii of the orbits of the planets have been used. There is every reason to think that they became smaller than the initial ones during millions of years. If the values of these orbits were large, the difference between centrifugal force of inertia and gravitational force of the Sun were larger for each planet; the process being described had a great chance to take place.

1726. It is known that solar radiation power per earth surface unit is                                     N = 1.40(10-3 W/m2= 0.14 W/cm2. Is it possible to determine mass, which is carried away by the photons within the Sun life time as this power is formed by the photons, which are emitted by the electrons of the Sun and have mass? It is possible. We have already given this calculation. Let us give it in detail. 
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1727. What are kinetic energy and power of the photon from the middle of the light spectrum (the green photon, for example) equal to? These values are calculated quite simply. Green photon mass equals mf=5.0(10-36 kg (Table 39). Its kinetic energy is            E=mC2=5.0(10-36( (2.998(108)2=4.50(10-19 J. Its is equal to power of the photon numerically is Nf=mC2/s=4.50(10-19J/s (W). 
Table 39. Bands of a change of radii (wavelengths [image: image2.wmf]l
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	2. Broadcast band
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	3. Microwave band
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	4. Relict band (max)
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	5. Infrared band
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	6. Light band
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	7. Ultraviolet band
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	8. Roentgen band
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	9. Gamma band
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1728. How many light green photons form the above-mentioned thermal power N= 0.14 W/cm2 per square centimetre of the surface of the Earth? If we divide thermal power N= 0.14 W/cm2, which is formed by the light photons per square centimetre of the surface of the Earth, by power Nf=4.50(10-19 (W) of one (green) photon, we shall obtain
                               nf=N/Nf=0.14/4.50(10-19 =3.11(1017  pieces                                            (251)
1729. What is area of a sphere [image: image28.wmf]3
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 with the orbital radius of the Earth equal to?
[image: image29.wmf]2

27

2

22

2

11

2

3

3

10

83

.

2

10

30

.

28

)

10

50

.

1

(

14

.

3

4

4

sm

m

m

R

S

×

=

×

×

×

×

=

×

=

p

            (252)
1730. How many photons are emitted by the Sun per second on the internal surface of the sphere with the orbital radius of the Earth?
                                            nff=nf (S3=3.11(1017(2.83(1027=9.10(1044  pieces                        (253)
1731. What is the mass of the photons, which are emitted by the Sun per second on the internal surface of the sphere with the orbital radius of the Earth, equal to?
                              M1f= nff mf =9.10(1044(5(1036 =4.55(109 kg=4.55(106 t/s                          (254)
Our Sun emits the quantity of the light, green photons per second; their mass is equal to 4.55(106 tons (4.55 million tons). It is a tremendous figure. 
1732. What is the mass of the light photons, which are emitted by the electrons of the Sun during its life time, equal to?
   MfC( 6.5 milliard years(4.55(106=6.5(109(365(24(60(60(4.55(106=9.3(1023 t                      (255)
1733. The mass of one photon from the whole spectrum was taken for the calculation. By how many orders of magnitude will the result being obtained (255) be increased if the photons of the whole spectrum, which is emitted by the Sun, are taken into consideration? It is difficult to give an exact answer, but it is clear that the actual total mass of the photons of the whole spectrum of the Sun, which is emitted by it during its life time, exceeds the value being obtained (255). 
1734. What is the mass of modern Sun equal to?
                                                             MC(2(1027 tons                                                        (256)
1735. Where do the Sun electrons take mass for the emitted photons? There is only one source: a rarefied substance, which fills space; it is called the aether. 
1736. Does it mean that the electron restores its mass after each emission of the photon by absorption of the aether? This is the only acceptable hypothesis for the present, which helps to get the answers for many other questions concerning microworld.
1737. Does it appear from the above-mentioned facts that the rarefied substance of physical vacuum, which is called the aether, is the main source of thermal energy? It is a hypothesis for the present, but an abundance of the subsequent experimental facts will strengthen its reliability, and a day will come when the world scientific society will have to accept this hypothesis as a reliable scientific postulate. 
1738. Why does the relict radiation possess the largest intensity in the millimetre band? The relict radiation (Fig. 178) is formed by the processes of the photon emission during the synthesis of atoms. Maximal quantity of the photons, which fill space, is emitted with a radius (wavelength), which equals r2.726=1.063 mm (Fig. 178, formula 1). 
1739. What source forms the relict radiation? The stars of the Universe are the source of the relict radiation. 
1740. What process forms the maximal relict radiation? The maximal relict radiation is formed by the process of nascence of the hydrogen atoms in the stars of the Universe.
1741. Why is the relict radiation formed by the process of the synthesis of the hydrogen atoms? It is, because the quantity of hydrogen amounts to 73% in the Universe, of helium to 24% and of all other chemical elements to 3%. Besides, binding energies of the electrons of the helium atom with its nucleus are close to binding energy of the electron of the hydrogen atom with the proton in their value. As a result, the process of the synthesis of the helium atoms makes a contribution to the relict radiation formation. 
1742. Why is the relict radiation formed at the temperature, which is close to absolute zero? It is, because the maximal quantity of the photons has the radii, which are close to their maximal values, in the Universe volume unit. There is no large quantity of the photons with large radii in the nature for the formation of lower temperature. 
1743. Is the relict radiation connected wit the Big Bang? The relict radiation has nothing to do with the fictitious Big Bang.
1744. What is the nature of the whole band of the relict radiation? The band of the relict radiation is formed by the processes of nascence of the hydrogen atoms and molecules and the processes of their cooling and liquefaction.
1745. How many maximums has the relict radiation zone? There are three vivid maximums: A, B and C (Fig. 179). Maximum A forms the process of nascence of the hydrogen atoms when free electrons and protons move away from the stars.
1746. What processes form another two maximums (B and C) of the relict radiation with less intensity and smaller wavelength (Fig. 179)? Another two maximums (Fig. 179, B and C) are formed by the processes of nascence and liquefaction of the hydrogen atoms. It is known that the monoatomic hydrogen becomes the molecular one within the temperature interval of 2500…5000 K. The wavelengths of the photons being emitted by the electrons of the hydrogen atoms in case of the formation of its molecule will be changed within the interval of 1.16(10-6 …5.80(10-7 m. They are the limits of the Universe radiation maximum, which corresponds to point C (Fig. 179). When the hydrogen molecules move away from the star and pass through the zone of the temperature, at which they are liquefied. It is known and equals T=33 K. That’s why there is every reason to believe that one more Universe radiation maximum, which corresponds to this temperature, should exist. The radius of the photons (wavelength), which form this maximum, is 8.80(10-5 m. This result coincides with the maximum in point B (Fig. 179). 
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Fig. 179. Dependence of density of the Universe relict radiation on the wavelength: the theoretical dependence is shown with the help of a thin line; the experimental one is shown with the help of a heavy line
1747. What causes the relict radiation anisotropy and what global consequence results from it? As an absence of the relict radiation, which occupies less than 1% of the Universe sphere, is registered, it proves that there are zones without stars and galaxies in the Universe; it can be identified with a localization of the material world in the Universe.
1748. Why is the difference between the experimental and theoretical results increased with a decrease of the relict radiation wavelength (Fig. 179)? It is, because the difference of density of such photons is increased in the Universe as in a cavity of the blackbody with the radiation wavelength decrease; for the blackbody, Planck formula, which gives a theoretical dependence, is derived (Fig. 179, the thin line).
1749. What is the maximal temperature in the Universe equal to? Is it possible to determine it theoretically and experimentally? Modern science has no exact answers to these questions. 
1750. Why do all stars emit a continuous spectrum with all colours of the rainbow? It is, because the binding energies of all electrons of the atoms, which correspond to the first energy levels, are shifted in reference to each other by small values. For example, the binding energies of the first electrons, the first chemical elements, which correspond to the first energy levels, have such values. The hydrogen atom has E1=13.598 eV; the helium atom has E1=13.468 eV; the lithium atom has E1=14.060 eV; the beryllium atom has E1=16.170 eV; the boron atom has E1=13.350 eV, etc. It is natural that the binding energies of all other electrons of each atom are shifted on all other energy levels, not only on the first one. As a result, a continuous radiation with all colours of the rainbow is formed. 
1751. Is there any reason to think that the emission lines of the hydrogen atoms and the helium atoms will prevail in the spectra of the newest stars when they are born? There is every reason for it, because the hydrogen atoms and the helium atoms are the simplest ones, and they are born in the new, young stars, and the astrophysicists register this fact steadily. 
1752. Does the name Supernova correspond to reality? No, it does not. As it has been established, some stars are compressed and explode again in the process of their evolution. They have been called supernovae. It would be correct to call them super old, and the upstart stars with the bright lines of emission of the atoms and the molecules of hydrogen and helium should be called new stars or supernovae.
1753. Is the temperature of the surface of the new hydrogen stars maximal? It is not maximal, because ionization energy of the hydrogen atom is less that ionization energy of the helium atom, which is born the second. 
1754. What is the temperature on the surface of the hydrogen supernova equal to? Wien’s law points out to the fact that the hydrogen atom ionization energy being equal to 13.598 eV corresponds to the temperature of 31780 K.
1755. Is the temperature on the surface of the star increased by nascence of the helium atoms? Yes, it does. If it is formed by the photons, which correspond to ionization energy of the first electron of the helium atom [image: image31.wmf]1

E

=24.587 eV, it will be 57284 K; if of the second electron with ionization energy 54.40 eV, it will be 127200 K. Such temperature is formed by the ensemble of the photons approximately from the middle of the ultraviolet band (Table 39). 
1756. What is the maximal temperature on the surface of the star being registered by the astrophysics equal to? According to the existing classification, the blue stars have maximal temperature, which is equal to 80000 K. It is formed by the ensemble of the photons with the radii of r=3.60(10-8 m. These photons are approximately from the middle of the ultraviolet band (Table 39).
1757. What would the star temperature be if it were formed by the ensemble of the photons with the energies being equal to ionization energy of lithium, the third chemical element? It would be 286000 K. These photons are near the border of the ultraviolet and roentgen bands (Table 39). 
1758. It appears from the previous two questions that there is a limit of the maximal possible temperature, which forms heat in the interpretation, which has been formed with us. Is it so or not? There is every reason to believe that there is a limit of the maximal possible temperature, and it is formed by the photons of the ultraviolet band (Table 39). 
1759. Are there additional proofs of the existence of the limit of the maximal possible temperature, which is identified with heat by us? There are such proofs. The maximal ensemble of the photons of the beginning of the roentgen band forms the temperature of nearly million degrees. If we supposed that the roentgen apparatuses generated only 5% out of the maximal ensemble of the roentgen photons, they would form the temperature of nearly 50000 K. It is natural that such photons would burn their patients during roentgenoscopy. But it does not take place. It means that the ensemble of the roentgen photons does not form the temperature, which corresponds to our notions concerning heat. 
1760. What temperature is formed by the ensemble of the gamma photons? The gamma photons are by several orders of magnitude smaller than the roentgen photons; their energy is by several orders of magnitude greater (Table 39); that’s why they cannot form the temperature, which corresponds to our notions concerning heat. 

1761. Why does calcium, which occupies the 20th place in the periodic table, appear in the stars after nascence of the atoms of nitrogen and oxygen? It is, because the nucleus of the calcium atom is formed out of the nuclei of the atoms of nitrogen, lithium, helium and hydrogen, which are born before nascence of the nuclei of the calcium atoms, i.e. they already exist at the moment of nascence of the nuclei and atoms of calcium, one of the symmetrical atoms of the periodic table.
1762. Why is there no radius (wavelength) of the photons, which are detained by the black hole, in Schwarzschild’s formula [image: image32.wmf]2
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, which is used for the determination of radius R of the black hole? It is, because the formula is derived from the condition of equality of energies, not forces.  
1763. By how many orders of magnitude will the radius of the black hole, which is formed out of the star having the parameters of the Sun, be decreased if the radius (wavelength) of the gamma photon is taken into consideration? When the radius of the black hole is calculated according to the formula [image: image33.wmf]GMr
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of the detained photons, the star, which has the parameters of the Sun and has turned into the black hole, will reduce its radius by 11 orders of magnitude (1011) as compared with the calculation according to Schwarzschild’s formula [image: image35.wmf]2
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1764. By how many orders of magnitude will density of substance of the black hole having the parameters of the Sun be increased if the radius (wavelength) of the gamma photon, which is detained by such black hole, is taken into consideration? By 35 orders of magnitude (1035) as compared with the calculation according to Schwarzschild’s formula[image: image36.wmf]2
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1765. By how many orders of magnitude does this density exceed the density of the nuclei of the atoms? By 35 orders of magnitude (1035).
1766. Are these factors enough in order to understand the black holes are an astrophysical myth? We have published this information more than 7 years ago, but there are the sites, which advertise “the black holes” still. So the answer to the question being put is a negative one. We cannot rule out the fact that this advertisement pursues any other aims, not the scientific aims. 
1767. Can the neutron stars exist? There is no exact answer to this question, because life time of the bineutron is nearly 10-3 s. The neutron clusters can be formed, but their life time duration is unknown. When it is established experimentally, the reasons for the analysis of the formation process of the neutron stars will appear. 
1768. What is density of the neutron equal to if it is considered that it has a spherical form? It appears from the elementary particle localization law that the radius of the spherical neutron is (s. Fig. 180, formula 1). Mass of the neutron is known as well (Fig. 180, formula 2). If it is taken into account, density of the neutron is (Fig. 180, formula 3). It is in the interval of density of the nuclei of the atoms (Fig. 180, formula 4).
1769. What is density of the neutron star, which consists of the neutrons only, equal to? If the neutron packing factor is not taken into consideration, density of the neutron star is (Fig. 180, formula 5). It is close to density of the nuclei of the atoms. 
1770. What density should the neutron black hole have in order that its gravitation field could retain gamma photons? In order that the neutron black hole could retain gamma photons, its density should be (Fig. 180, formula 6). It is by 12 orders of magnitude greater than density of the nuclei of the atoms; that’s why there is no reason for the existence of the neutron black holes.
1771. Can the neutron star be turned into the black hole? If the black star is understood as an object, which retains gamma photons, it cannot be turned. 
1772. Is the error in the determination of the deviation rate of the photon motion path by the gravitation field of the Sun, which has been made by Eddington’s expedition that has tried to prove reliability of Einstein's relativity theory? The true value of the deviation is (Fig. 180, formula 7). It is by many orders of magnitude less than it is possible for Eddington’s expedition to reessenceer it (Fig. 180). 
[image: image37.png]13=132-10" m (1); my=1.67-107 kg 2); pn=1.73-10"" kgm® (3);
Pr=(120-2.40)-10"" kg’ (4); pns=520-10" kg/m® (5); pre=4.87-10" kg/m® (6);
048-10 1 (7); 2DVHC24%=0.04 (8): 2DVZ/C2-27=0.00002 (9)

Diagram of the analysis of the photon path distortion by
the gravitational field of the Sun: 1- the Sun; 2- the Earth; 3- the star




Fig. 180.
1773. What error has been committed by Michelson and Morley in the interpretation of their famous experiment? They took into account the earth rotation speed in relation to the Sun when analyzing behaviour of the photons; they calculated according to the formula (Fig. 180, formula 8). As the photon has mass, the Earth serves as an inertial frame of reference in the Michelson-Morley experiment. That’s why it was necessary to take into account the circumferential speed of the points of the surface of the Earth. The result should be as follows (Fig. 180, formula 9). This result was well over the possibilities of Michelson’s device to register it. But the Nobel Committee did not know it and gave him the prize for the accuracy of these measurements. 
1774. Why are the results of Michelson-Morley experiment at variance with the results of the Sagnac experiment? It is, because the Sagnac experiment takes into account inertness of the frame of reference, which is connected with the Earth, but it is ignored in the Michelson-Morley experiment.
1775. Does it mean that it was enough for the scientific community to regard the results of the Sagnac experiment more attentively in order to accept erroneousness of the Michelson-Morley experiment and Einstein's relativity theories resulting from them? The answer is unambiguously positive. 
1776. How will the future generation of scientists regard this fact? They will regard it approximately in the way we would regard our ancient colleagues who thought that the Earth is flat and is supported by three whales if there were a genius in their time who would try to convince them that the Earth is round and nothing supports it, it rotates round the Sun. 
1777. In what ways is a change of the wavelength of the photon or its radius r or frequency v’ determined in the astrophysical observations? Doppler effect is used for such calculations. It is based on a well-known phenomenon of the change of the wavelength of frequency of the acoustic signal being emitted by a moving acoustic source. If a direction of the acoustic signal motion and a propagation of the acoustic wave coincide, frequency of the acoustic wave is accepted as an increased one and it length as a decreased one, and the observer who is in front of such source registers these changes. When the source emits its wave oppositely to the direction of its motion, the wavelength is increased and the frequency is decreased, and the observer who observes the wave source, which moves away, registers these changes.
1778. Can the above-mentioned regularities be expanded to the analysis of the phenomena, which are formed by the photons? It is impossible to expand the acoustic Doppler effect variants to all cases of behaviour of the photon, which appears on the moving object or is reflected from the moving object. We shall discuss these cases successively later on. 
1779. How is it possible to obtain the mathematical models from Lorentz’s transformations (Fig. 181, formulas 1 and 2) for the calculation of the change of frequency v’ of the photon, which starts from the source moving with velocity V (Fig. 181)? In order to obtain the mathematical model for the calculation of the change of frequency of the photon, which starts from the moving frame of reference in the direction that coincides with axes OX and OX’, it is necessary to put (according to Fig. 181) the values[image: image38.wmf]Ct
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  in Lorentz’s transformations (Fig. 181, formulas 1 and 2). As a result, the formula (3, Fig. 181) will be obtained. It appears from this formula that frequency of the photon, which starts from the object moving with velocity V in the direction of this motion, is calculated according to the formula (4, Fig. 181). We denote [image: image40.wmf]b
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 and obtain the formula (5, Fig. 181) for the calculation of frequency of the photon, which starts from the object moving with velocity V in the direction of this motion. 
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Fig. 181.
1780. It appears from the formula (4, Fig. 181) that frequency v’ of the starting photons is increased with the increase of velocity V. To what shift of the spectral line will it correspond? The answer is unambiguous: it will correspond to the ultraviolet shift of the spectra, which proves an approach of the object, from which the photon starts, and the observer who is in the stationary frame of reference. It is stipulated by the fact that C(V; that’s why it appears from the formula (4, Fig. 181) that frequency [image: image42.wmf]'

n

 of the photon, which is emitted by the moving source, exceeds frequency [image: image43.wmf]n

 of the photon, which is emitted by the source being at rest, i.e. the mathematical models (4 and 5 in Fig. 181) describe only the ultraviolet shift of the spectra of the atoms. We repeat it thrice for the narrow-minded relativists: only, only, only for the ultraviolet shift of the spectra.
1781. How is it possible to obtain a mathematical model from Lorentz’s transformations, which could demonstrate a decrease of frequency of the photon, which starts from the moving source, and could describe the red shift corresponding to the expansion of the Universe? It cannot be done. It is impossible to obtain the mathematical model, which describes a decrease of the starting photon frequency, from Lorentz’s transformations in order to prove the expansion of the Universe.  

1782. Why is it impossible to obtain the mathematical model for a calculation of the so-called red shift from Lorentz’s transformations? The answer is very simple. In case of the red shift, the photon starts from the object in the direction, which is opposite to the direction of the motion of the object. Lorentz’s transformations describe solely a variant of the coincidence of the directions of the motion of the object and the photon, which starts from it (Fig. 181). 

1783. How did the relativists manage to slip out of this impossibility when they calculated the red shift and stated that it originated from Einstein's relativity theory and they obtained the Nobel Prizes? It is awkward to give a direct answer, but the situation is such that the answer is required. The relativists managed to slip out of this situation by swindling as it may be said. They did it simply having rewritten the formulas (4 and 5, Fig. 181) groundless in the form, which was necessary to them (6, Fig. 181). There was neither mathematical right, nor physical right to do it, but they did it, and they are proud of their swindling beyond measure.

1784. Do Lorentz’s transformations exist for the case when the directions of the motion of the object and the photon, which starts from it, are opposite? It is astonishing, but they do not exist.

1785. Is it impossible to obtain Lorentz’s transformations for the case of the motion of the moving frame of reference in the negative direction of axis OX and a formula (6, Fig. 181) later on? It is a natural question. An answer to it results from Fig. 182, and we suggest that the reader should do it. 
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Fig. 182. Diagram for the analysis of the opposite motions of the moving frame of reference and the photon, which starts from it

1786. Can the results of the calculation according to the formulas (5 and 6, Fig. 181) be transformed? Naturally, it is possible to do it. For this purpose, let us assume several values ( and determine the values [image: image45.wmf]n

n

/

'

 for them. We substitute them in the formulas (5) and (6). As a result, we shall obtain a logical result, but the physical essence of its acquisition is violated completely (Table 40). 
Table 40. Relativistic result of the calculation of the photon Doppler effect
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	0.000001

0.00001

0.0001

0.001

0.01

0.1
	1.0000009

1.0000099

1.0000999

1.0010004

1.0100504

1.10554
	0.9999989

0.9999899

0.9998999

0.9990004

0.9900494

0.904534


This result  [image: image49.wmf]n
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  (Table 40) demonstrates unambiguously that if velocity [image: image50.wmf]V

 of the motion of the moving frame of reference (of the star, for example) is increased, frequency [image: image51.wmf]'
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 of the photon being emitted is increased; it means that the ultraviolet shift of the spectral lines is increased. We have already proved that there is no reason to use the formula (6, Frig. 181) though it gives the result (Table 40), which is observed by the astrophysicists (Fig.183).
Thus, we have obtained an unambiguous answer: the relativists have only one mathematical model (5, Fig. 181) for the calculation of the ultraviolet shift of the spectra of the atoms and the ions; they have no right to use the mathematical model (6, Fig. 181) for the calculation of the so-called red shift of the spectra. 

1787. How should we regard the Nobel Prize bestowal on the astrophysicists who have proved the expansion of the Universe? In order to be impersonal, we should feel sorry for the experts of the Nobel Committee. They try to estimate novelty and importance of the scientific investigations for the mankind though they lack necessary knowledge for it. As a result, an amusing situation is created for our descendants who will puzzle out these errors and will treat the experts of the Nobel Committee approximately in the same way as we treat now the experts who stated that the Sun rotates round the Earth. It is a mere fun and nothing more. It is easy to understand the above-mentioned facts. A lack of the desire for understanding is equal to the narrow-minded mentality. The experts of the Nobel Committee and their prize-winners are in an absurd position, but they fail to understand it and even are proud of it.
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Fig. 183. The shift of the spectral line; according to it, velocity of moving apart of the galaxies from the Earth is calculated.

1788. Is there any formula for the calculation of the red shift of the spectra resulting from the classical notions, not from the relativistic ones? Such formulas do exist. They are published in the year of 2002 in “Galilean Electrodynamics”, the American magazine, and belong to L. B. Boldyreva, N.B. Sotina, the Russian women (L. B. Boldyreva, N.B. Sotina.  The Possibility of Developing a Theory of Light Without Special Relativity. “Galilean Electrodynamics”. Volume13, Number 6. Pag. 103-107). 

1789. How did the Russian women manage to solve a scientific task, which was too much for the learned men? They did it simply and logically. They refused from a kinematic approach to the solution of this task and used an energy variant. For this purpose they wrote total energy of the photon in the form of two components: the first one[image: image53.wmf]2
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 takes into account the energy of translational straight line motion of the photon; the second one [image: image54.wmf]2
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 takes into account a rotary part of its energy; they assumed that a sum of these energies depends on velocity [image: image55.wmf]V

of the photon motion. If the angle between the direction of the velocity vector [image: image56.wmf]V

 of the source motion and the direction of the velocity vector [image: image57.wmf]C

of the photon being emitted (Fig. 184) equals (, total energy of the photon being emitted is written in the following way:
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Fig. 184. Diagram of addition of velocities of the source [image: image60.wmf]V

and the photon [image: image61.wmf]C
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If the motion directions of the source and the photon being emitted coincide, [image: image65.wmf]0
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If the motion directions of the source and the photon being emitted are opposite, [image: image67.wmf]0
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In Table 41, you can see the calculation results according to the classical mathematical models (258), (260) and the relativistic ones (5, Fig. 181) and (6, Fig. 181).

Table 41. Calculation results of the photon Doppler effect

	[image: image69.wmf]C

V

/

=

b


	[image: image70.wmf]n

n

/

'

 (259)
	 [image: image71.wmf]n

n

/

'

 (260)
	[image: image72.wmf]n

n

/

'

 (5)
	  [image: image73.wmf]n

n

/

'

 (6)

	0.000001

0.00001

0.0001

0.001

0.01

0.10
	1.000001
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1.000100

1.001000

1.010000
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It is easy to see that the results are close; the only difference is in the fact that both mathematical models (259) and (260) reflect reality; in case of the relativistic approach, only formula (5) is connected with reality. If we take into consideration the fact that relativistic reality results from relativistic kinematics and the classical result of the Russian women originates from classical energetics, I (being an expert) insist that L. B. Boldyreva and N.B. Sotina deserve to be conferred with the Nobel Prize in astrophysics. 

1790. Are there the astrophysical observation results, which prove reliability of the mathematical models (259) and (260)? The results of the simultaneous reessenceration of the ordinary spectral lines of the hydrogen atom, which are obtained from SS433 extraterrestrial object, and the spectral lines, which are shifted to the ultraviolet and red regions of the spectrum, serve as a classical experimental fact, which proves validity of the mathematical models (259) and (260). It points out to the fact that the main part of SS433 extraterrestrial object is at rest in relation to space; two other parts move in relation to space. The part, which generates the ultraviolet shift, moves in the direction to the Earth; the part, which generates the infrared shift at this very time, moves in the direction from the Earth. Periodicity of a change of the values of these shifts is reessenceered as well. 

1791. Is it possible to make a conclusion concerning the expansion of the Universe without knowledge concerning physics of the process of the photon emission from the moving objects? It is impossible, because knowledge concerning a real physical process of a mass loss by the photon in case of the radiation from the object, which moves in space in the direction being opposite to the photon radiation, can change an interpretation of this phenomenon in such a way that the existing dominant interpretation of the expanding Universe will become completely erroneous. 
1792. What is the essence of such error? The essence is in the fact that no actual reason of the mass loss by the photon being emitted in the direction, which is opposite to the motion direction of the emission source, has been found yet. 

1793. What processes evoke the mass loss by the photons when they are emitted in the direction being opposite to motion of the object, which emits the photon? There are two reasons; both of them are equivalent. The photon loses its mass at the time when it is emitted by the electron, and the same mass is lost in the interaction with the medium, in which the photons move, in this case during millions and milliards of light years. It is still unknown, which process out of these two processes makes the largest contribution in the mass loss by the photon. Nevertheless, the Nobel Committee experts award prizes without further ado disgracing the founder of this prize. 

1794. It is known that Isaac Newton was the first to set forward a ballistic hypothesis concerning the photon start at the moment of emission. How does the new theory of microworld explain this hypothesis? The ascertained corpuscular nature of the photon (Fig. 185) gives every reason to return to the ballistic hypothesis, which is based on Newton’s notions considering light as a stream of material corpuscles. But this hypothesis acquires a considerable limitation. Its essence is as follows. If we connect the fixed frame of reference with space and consider a motion of the source, which emits the photons, in this system, velocity of the photons being emitted in reference with the chosen frame of reference, which is connected with space, will be always one and the same and equals [image: image74.wmf]C

. Such result is stipulated by the fact that photon motion velocity consistency is generated by the electromagnetic (or magnetic) processes, which take place in its magnetic structure (Fig. 185). 
         The essence of the photon emission process can be compared figuratively with the gun-shots of such shells that despite of initial velocity of the exit of the shell from the gun barrel would gather one and the same speed with regard to the fixed frame of reference being connected with space. It stipulates a peculiarity of the photon ballistic hypothesis: an absence of the phenomenon of the Galilean composition of velocities of the source and the photon being emitted. When the photon is emitted, it gathers one and the same constant speed with regard to space being equal to [image: image75.wmf]C

.  However, the Galilean composition of velocities is preserved completely when the photon meets with the receiver, but it exerts no influence on the energy state of the photon itself. 
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Fig. 185. Diagram of the ring magnetic fields of the photon
At present, the infrared shift of the spectral lines being formed by the atoms of the stars of the galaxies serves as the main proof of the expansion of the Universe. The problem concerning an influence of the direction and velocity of the radiation receiver on a value of this shift remains unsolved. 

1795. Does the set out new information allow us to make an unambiguous conclusion concerning the expansion of the Universe? No, it does not; on the contrary, it impugns reliability of the idea concerning the expansion of the Universe.

1796. What is such assertion based on? Let us begin with the second Einstein’s postulate: “Any ray of light moves in the stationary system of coordinates with the determined velocity c whthe aether the ray be emitted by a stationary or by a moving body”. It is known that the rays of light is a scanty part of the whole scale of the photon emissions; that’s why it is time to extend the operative region of this postulate and to substitute the concept “rays of light” for the concept of the photons. The postulate says nothing about what the system of coordinates is stationary. It requires a specification as well. The meaning of the stationary and the moving body is unclear as well. With regard of what is it stationary and with regard of what does it move?

1797. Which should be the new definition of the second Einstein’s postulate if we take into account all inexactnesses in the definition of the second Einstein’s postulate? It should have the following wording: “Velocity of the photons, which are emitted by a stationary or by a moving source, is constant in reference to space and does not depend on the motion direction of the source and its velocity”. Thus, velocity of the photons is constant in reference to space. It is a significant improvement with serious consequences.

1798. How is the photon emission process with regard to space written if its source is stationary ([image: image77.wmf]0
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)? If the source [image: image78.wmf]S

 is stationary in reference to space, the photon will move with the acceleration [image: image79.wmf]a

 at the time when it is emitted, and the process of its nascence will be written in the following way (Fig. 186, a)
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From (261), we have
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1799. To what is frequency of the photon being emitted equal if the source is stationary in reference to space? When the source is stationary ([image: image82.wmf]0
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), frequency of the photon being emitted will be equal to
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Fig. 186. Diagram of combination of velocities of the source [image: image85.wmf]V

 and the photon[image: image86.wmf]C

:  E is the observer, S is the source

1800. In what way will velocity of the photon be changed when the motion directions of the source and the nascent photon coincide (Fig. 186, b)? It will be changed according to the law
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1801. In what way does the photon start process duration depend when the motion directions of the source and the photon coincide (Fig. 186, b)? If we substitute the acceleration[image: image88.wmf]a

 from (262), we shall find an answer to this question
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When the motion directions of the emission source and the photon being emitted coincide (Fig. 186, b), the duration of the process of the acceleration of the photon from V to C is decreased with an increase of velocity V of the radiation source in reference to space (265). 

1802. Will frequency [image: image90.wmf]'

n

 of the photon being emitted be increased or decreased with the increase of velocity V of the source motion when the motion directions of the source and of the photon coincide (Fig. 186, b)? The answer to this question results from the mathematical model (266), which originates from the formula (265). 
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If the motion directions of the emission source and of the photon coincide, frequency of the photon being emitted is increased with the increase of velocity V of the source, and its spectral line is shifted into the ultraviolet region of the spectrum. 

1803. In what way will velocity of the photon, which stats from the source in the direction being opposite to its shift, be changed (Fig. 186, c)? If the directions of the moving source and of the nascent photon are opposite (Fig. 186, c), the equation of an alteration of its velocity will be written in the following way
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1804. Will the start time of the photon from the source in the direction being opposite to the source motion be increased or decreased? The answer to this question results from the formula
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When velocity V of the source is increased, duration t’ of the process of the photon start in the direction being opposite to the source motion direction is increased. 

1805. In what way will frequency of the photon, which stats in the direction being opposite to the emission source direction, be changed? It results from the mathematical models (269), which describes this process, that frequency[image: image94.wmf]'
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 of the photon being emitted is decreased, and the infrared shift of the spectra should be observed.
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1806. It results from the kinematic analysis of the processes of the photon start from the moving source that energy intensity of the start process depends on the photon start direction. If the directions of the source and of the photon coincide, frequency of the starting photon is increased, and it increases its mass and, consequently, energy as compared with the start from the source being at rest in relation to space; if these directions are opposite, mass and, consequently, energy of the stating photon are decreased. Can these processes be compared with the start of a rocket from the Earth to the orbit? There is some parallel in these processes. It is known that the start of the rocket in the Earth’s rotation direction is less energy-intensive than its start toward the Earth’s rotation. 

1807. Can the analysis, which is described, be summed up? It not only can be done, but it must be done. The process of the separation of the photon from the electron of the atom is not momentary. A bond between them is preserved within a certain period. Mass and, consequently, energy and a photon wavelength, with which it is radiated having separated from the electron, depend on duration of this bond preservation. It is clear from the ratio (265) that if [image: image96.wmf]C
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. It implies that the photon start in the motion direction of source, which moves in reference to space with speed C, is impossible (Fig. 186, b). In this case, the photon will not be emitted by the electron. 

When the motion direction of the photon being emitted coincides with the motion direction of the source (Fig. 186, b), duration (265) of the transition period is decreased as compared with duration of the transition period in case of the start from the source being at rest. The wavelength and frequency of such photon are shifted into the ultraviolet region of the spectrum. 

When the photon starts in the direction being opposite to the source motion (Fig. 186, c), duration of the transition period is increased as it is clear from the ratio (286). We have every reason to think that in this case (in the process of the loss of the bond with the electron) the photon will transfer more its electromagnetic mass and will arrive to the receiver[image: image98.wmf]E

 with the wavelength and frequency, which are shifted into the infrared region of the spectrum. 

If the velocity directions of the source and the photon coincide, duration of the transition period (265) is smaller than in case of the photon emission source being at rest; if they do not coincide, it is larger (268) than in case of the photon emission source being at rest. In the first case (Fig. 186, b), when the photon is born, it will lose less energy (mass) and will arrive to us with the wavelength, which is shifted into the ultraviolet region. In the second case (Fig. 186, c), it will lose more mass and will arrive to the receiver with larger wavelength, which is shifted in the infrared region. 

Thus, using its field the electron of the emission source atom will try to retain the photon with the help of its magnetic lines of force, via which the mass of the photon electromagnetic field (the field itself, to be more exact) will flow to the electron of the emission source atom. The slower the photon moves away, the larger part of the mass is lost. Apparently, this energy transfer process is appropriate of other particles. Since in this process as if pumping of “the mass” (the aethereal substance) from one particle to another takes place and it has no opportunity to be formed as the energy photon (Fig. 185), this part of energy is not registered in the experiment. 

A value and a direction of the shift (into the infrared region or the ultraviolet region of the spectrum) depend only on the emission source motion direction and radiation itself. If these directions coincide, only the ultraviolet shift of the spectral lines should be observed. If they are opposite, only the infrared shift of the spectral lines should be observed. Such regularity shows that the presence of the infrared shift of the spectral lines is insufficient for an unambiguous conclusion concerning the expansion of the Universe. 

1808. What is the essence of impossibility of the unambiguous conclusion concerning the expansion of the Universe? In order to give an answer to this question, let us consider an interpretation of the shift of the spectral lines from the sources, one of which approaches the Earth and another moves away (Fig. 187). As the Earth moves in reference to space, it should be taken into consideration compulsory when analysing a connection of the shift of the spectral lines with the expansion of the Universe (Fig. 187).

The first case. If, for example, the velocity vectors of the Earth E and the star D are directed along one line and are one-way (Fig. 187), a value of the spectral line shift to the ultraviolet region being registered on the Earth E will point out to the fact of the start motion in relation to space, not to the Earth, which moves in relation to space, and the fact of their approach or moving away depends on a difference of their velocities [image: image99.wmf]E
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 (Fig. 187). If this difference is positive, the Earth E and the star D will  approach each other. If this difference is negative, velocity of the earth in relations to space will be larger than velocity of the star and they will move away from each other under the conditions of the registered shift of the spectral line of the star to the ultraviolet region. 
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Fig. 187. Diagram to the analysis of the expansion of the Universe
AB is a radial direction of the expansion of the Universe; D, S are the stars, which are situated in the radial direction of the expansion of the Universe; E is the Earth
The second case (Fig. 187). The star S moves away from the Earth E with velocity (in relation to space), which is smaller than velocity of the earth. As a result, the Earth and the star S will approach each other under the conditions when a spectral line, which is obtained on the Earth E from the star S, will be shifted into the infrared region. It is quite enough in order to impugn the hypothesis concerning the expansion of the Universe as the one, which does not deserve the Nobel Prize. 

The astrophysicists register the infrared shift of the spectra of the stars and the galaxies stably, but it is insufficient in order to prove the expansion of the Universe, because the values of velocities of the stars and the galaxies with the red shift of the spectra and the Earth, the receiver of these spectra, in relation to space remain unknown. In absence of this information, a conclusion concerning the expansion of the Universe becomes a result of a guess-work. In the second example, we have already shown that the red shift is registered on the Earth under the condition of the approach of the star and the Earth, not the moving away. 

1809. Do all stars of the Universe form the infrared shift of the spectra? Not all of them. 

1810. Are there the stars, which form the ultraviolet shifts of the spectra, in the Universe? There are such stars. 

1811. What shift of the spectra is larger: the infrared shift or the ultraviolet shift? To what extent larger and why? The infrared shift of the spectra is twentyfold as compared with the ultraviolet one. Its exact cause is unknown yet. 

1812. Is there an unambiguous answer: does the Universe expand or not? There is no answer, and we have already proved it with the help of the elementary examples, which have been considered within the framework of the new wording of the second Einstein’s postulate. 

1813. Astrophysics has plenty information concerning the expansion of the Universe. Is it possible to impugn such information? There are all reasons for that. We have already given them. That’s not all that impugns the hypothesis concerning the expansion of the Universe. There are other facts, which prove correctness of our conclusions. The point is this. The exact cause of the red shift of the spectral lines (Fig. 183, a, b) has not been found yet. This phenomenon can be the result of two causes: an increase of the red shift at the expanse of the increase of velocity of the emission source moving away from the observer (from the Earth) or the increase of energy losses by the photons in the process of their long travel from the stars to us.  It has not been found yet what cause is responsible for the red shift of the spectral lines. 

1814. Are there indirect proofs of an influence of duration of the travel of the photon in the Universe on the value of the red shift? There are such proofs. It has been found that the red shift of the spectral lines is greater, the larger is the distance from the radiation source (the star or the galaxy) to the Earth. It is a vivid property of the influence of duration of the travel of the photons in the Universe on the value of the red shift, but the astrophysicists are of the different opinion. They think that the remoter the radiation source is from the Earth, the larger the velocity of its moving away is. It is a strange logic. It appears from this that the Earth is the centre of the Universe. It is a stupid conclusion, but it is adored. 

1815. The astrophysicists have introduced the notion of dark matter in order to explain a cause of a slowdown of the American satellite “Pioneer-10”, which was launched on March 2, 1972, and which was accelerated by the gravitation force of Jupiter up to the third cosmic speed of 15.67 km/s and went outside the solar system, which was left by it in the year of 1978 (Fig. 188). The last communication sessions with it took place on December 4, 2002, and January 22, 2003. According to the American investigators, the satellite “Pioneer-10” was at the distance of 12 milliard kilometres from the Earth at that time and flew with smaller velocity of 12.20 km/s. What is the actual cause of a deceleration of the motion of this satellite? Without further ado, the Americans announced the existence of dark matter, which decelerated the motion of their satellite outside the solar system. In order to check reliability of their statement, let us calculate the gravitation force of the solar system, which has decelerated the satellite, which mass is 230 kg, at the distance of ROC=1.22(1013 m. It is equal to
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This small value made the Americans to formulate a hypothesis that the satellite was decelerated by some rarefied substance, which was called the aether, but was refused by Einstein's relativity theories; that’s why it was decided to call it dark matter. 
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Fig. 188. Photo of the American satellite “Pioneer-10” and diagram of its voyage
1816. Do Newton dynamics laws make it possible to find an actual cause of the deceleration of the American satellite? No, they do not. 
1817. Why don’t Newton dynamics laws make it possible to find an actual cause of the deceleration of the American satellite? Newton dynamics is based on d’Alembert principle. According to it, the inertial force [image: image103.wmf]i
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 equals the product of mass m of the body by its acceleration [image: image104.wmf]a

 and is directed oppositely to acceleration. As the inertial force decelerates the accelerated motion of the body, we should take into account Newtonian force[image: image105.wmf]ma
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 and other resistance forces, which tale place in case of accelerated motion of the body, and write the equation of the forces[image: image107.wmf]C
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Absurdity of this result is stipulated by the error made by d’Alembert who determined the inertial force as the product of the mass of the body by its acceleration. In reality, in the accelerated motion the inertial force forms only a part of resistance to the motion togthe aether with other forces; that’s why the mass of the body should be multiplied by the part of the deceleration, the complete value of which is formed by the inertial force togthe aether with other forces.  
1818. How should the value of the motion deceleration of the American satellite be determined? If the date (December 1973), when the satellite passed Jupiter, which gravitation field imparted the third cosmic speed of 16.67 km/s to the satellite, as well as the date of the last communication with it (January, 2003) is accepted as the reference time, total time, within which its velocity was decreased by 16.67-12.20=4.47 km/s, is 29 years and 1 month, or t=29x12+1=349 months=349x30x24x60x60=904608000 s. It appears from this that satellite moved with the deceleration of 
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1819. How is it possible to check the fact that the deceleration value b=0.49(10-8 m/s2 of the American satellite was formed by dark matter? If this deceleration is formed by the rarefied substance, which was called the aether and is called dark matter now, such deceleration should be manifested in each body that moves in outer space, including the Earth. Its orbital velocity is twice as much than velocity of the above-mentioned satellite and is approximately 30 km/s. The motion deceleration value b is determined from the elementary kinematic formula
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where Vo=3.0(104 m/s  is the initial existing orbital velocity of the earth; V is velocity of the Earth, which is decelerated by resistance of the aether or dark matter with a definite period of time t. The formula (273) makes it possible to determine the time of deceleration of velocity of the Earth up to zero (V=0) as a result of a slowdown of its motion by dark matter. 
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It appears from this that dark matter should stop the orbital motion of the Earth within 194000 years, but the Earth rotates more than 4.5 milliard years. 
1820. Can this kinematic calculation be checked by the dynamic calculation? Taking into account the satellite mass m=230 kg, we have the force that is generated by dark matter, which has decelerated its motion (Fig. 188)
                                                   F=m(b=230(4.90(10-9 =1.127(10-6 N                              (275)
It is smaller than the gravitation force (270) by 8.88(10-5/1.127(10-6=78.80fold. Thus, the gravitation force of the solar system influencing the American satellite exceeds the force of dark matter, which decelerates the satellite (as they think). 
1821. Are there other variants for a check of reliability of the American hypothesis? Yes, there is another variant. We do not know the exact dimensions of the projection of the satellite on the plane, which is perpendicular to the path of its motion; that’s why we accept this value being equal to S(3 m2 approximately. A value of specific resistance to the satellite motion will be as follows
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We have obtained the value of specific resistance of the aether, which results from the American hypothesis. As the aether or dark matter fill space uniformly, our Earth should feel similar influence of this mysterious substance as well. Let us find by what value it can change orbital velocity of the Earth per rotation (one year) round the Sun. It is 30000 m/s now. The radius of the Earth is RE=6.38(106 m  and area of its circle is
                                                             S=(R2=3.14((6.38(106)2= 1.278(1014 m2                  (277)

The force, which decelerates the motion of the Earth in space is
                                              FE=((S=3.76(10-7(1.28(1014 =4.81(107 N                                 (278)    
The radius of the orbit of the Earth is Ro=1.50(1011 m  and the length of the orbit is
                                                       L=2(Ro=6.28(1.50(1011 = 9.42(1011 m                            (279)          
The work of the Earth motion resistance force, which is performed within one year, will be equal to
                                            Ep =F(L=4.81(107(9.42(1011 =4.53(1019 J   .                                 (280)
This work is equivalent to a decrease of kinetic energy[image: image113.wmf]k
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 of the Earth in the orbital motion within one year, i.e. a decrease of velocity Vo of the orbital motion within one year. If we take it into account, we shall have
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Mass of the Earth is mE=6.0(1024 kg  . From the equation (281), we shall find
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Taking into account that the modern orbital velocity of the Earth is 30000 m/s, we shall obtain time of the decrease of the modern orbital velocity of the Earth up to zero as a result of a slowdown, which is formed by dark matter. It equals t=30000/0.004=7500000… years. This figure is 4500000000/7500000=600…fold smaller than the existing lifetime of the Earth. Absurdity of a slowdown of the American satellite by “dark matter” is vivid. If velocity of the satellite is slowed down, it has taken place due to an influence of the gravitation force of the solar system, not an influence of mysterious “dark matter” (270). 
1822. Does the new theory of microworld make it possible to formulate a new hypothesis of material world nascence? The answer is positive, but before we discuss it in detail we should recollect that Ptolemaic hypothesis concerning the motion of the Sun round the Earth existed as the scientific truth for more than 2000 years. The hypothesis concerning material world nascence as a result of the so-called Big Bang exists less than 100 years. But a constraint in the acceptance of this hypothesis as the scientific truth is not less than a constraint in the acceptance of the hypothesis concerning the motion of the Sun round the Earth as the scientific truth. The level of so to say humanness has remained the same. A scientific intellect of a human being is increased quickly, but the qualities, which should differentiate a human being from an animal, do not grow; on the contrary, they degrade quickly by means of the controllable effect on the perception of people with the help of a propaganda of the man’s vices, which mutilate the young people, our future. 
1823. What is the essence of the contradictions of the hypothesis of the Big Bang resulting in nascence of the Universe and material world in it as it is supposed? Prior to set forth a new hypothesis concerning nascence of material world, it is necessary to ascertain that the possibilities to prove reliability of the old hypothesis are exhausted. For this purpose, it is enough to formulate the key questions, the answers to which should result from the old hypothesis. The first and foremost question: the nature and the properties of the primary blasted object: mass and density? We know that a solid torus of the proton has the largest material density (1.452(1018 kg/m3 ). Density of the whole nucleus of the atom is less and is nearly 1.80(1017 kg/m3. This difference is natural, because the nucleus is not a solid formation; it consists of the protons and the neutrons, and there are interstices between them.
What was the density of the substance of the primary object, which resulted from the general Einstein's relativity theory and which dimensions were close to the dimensions of a pea, from which all modern stars and galaxies were formed? Common sense rejects this hypothesis at once and brings to mind a stupid naivety of the author of “Big Bang” and his followers.
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Fig. 189.
1824. What is the essence of the new theory of nascence of the material world resulting from the new theory of microworld? The new theory of microworld affords ground to suppose that space and the medium rarefied in it, which is called the aether, are eternal; the process of nascence of the material world started from the process of nascence of the elementary particles. The vortex nature of a magnetic field, which takes place round a conductor with current, is well-known. What is the carrier of this field? It seems that it is an unknown substance, which is called the aether by us. It is possible that in space there can exist the conditions, under which a microvortex with the radius of r=2.40(10-12m is formed from such magnetic substance. There is every reason to suppose that there are the conditions when the height of the cylindrical part of this vortex is limited by a formation of the second rotation in relation to the ring axis of the vortex. As a result, a torus with two rotations, which we call the electron, is formed (Fig. 189, b). It was the first elementary particle. 
1825. Is it possible to observe such formations in macroworld? Such formations in macroworld are observed sometimes in the form of the torus-shaped wreaths at the output from the pipes of the internal combustion engines. They can be formed by the dolphins from water; they take place in the volcano zones. The man has made the largest torus, which is formed over the surface of the earth when a hydrogen bomb is exploded in the atmosphere. The information concerning it can be found in the section VIDEO “The secrets of the toroidal structures” http://www.micro-world.su/ Certainly, they are gigantic formations compared with the dimensions of the electrons or the protons. Nevertheless, there is every reason to presume an existence of the conditions when the toroidal formations, which are localized in space and have constant mass of the electron, can be formed from the aether. The radius of the electron torus axis is re=2.40(10-12/m. The angular momentum (angular impulse) conservation law, which is coded in Planck constant and in more than 20 other constant, governs rigidity of such structure. 
1826. What process took place after the formation of the electrons? The electron has a charge and a magnetic field, which is similar to a magnetic field of the bar magnet. It provides the conditions for the formation of the clusters of the electrons by means of a connection of their unlike magnetic poles. The like electric charges of the electrons limit their approach. The electron cluster is an experimental fact (Fig. 190, a). 
1827. What particle was the second to be born? The electron cluster formation process is accompanied by an emission of the photons, which is observed by us when an electric spark is formed. A crack, which accompanies this process, is a result of quickness of the electron cluster formation and a simultaneous photon emission by its all electrons. A cause of the crack is an excess of the dimensions of the photons (Fig. 190, b) being emitted by the electrons by a factor of 105 of the dimensions of the electrons themselves. In the nature, the electron-ion clusters are more powerful. When they are formed, the lightning is generated; the crack of the electric spark becomes a powerful thunder blast.
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1828. What particle was the third to be born? There is every reason to believe that the protons, which have a solid torus, not a hollow one and the reverse toroidal rotation, were born simultaneously with the electrons (Fig. 190, c). The presence of the electrons and the protons is a sufficient condition for the beginning of the formation of the whole material world. 
1829. What atom was the first to be born? The hydrogen atoms are the first to be born; this process is accompanied by emission of the photons. Two hydrogen atoms unite and emit the photons and form the hydrogen molecule. 
1830. What particle was the fourth to be born? If at the moment of establishment of a bond between the electron and the proton their unlike magnetic poles are directed toward each other, the proton absorbs such electrons and becomes the neutron (Fig. 190, d), the forth elementary particle. 
1831.What nucleus was born after nascence of the proton and the neutron? The nuclei of deuterium and tritium were born; then the nuclei of helium and its atom were born. 
1832. How does the new hypothesis concerning the material world nascence accord with the existing hypothesis concerning the star nascence from the so-called stellar gas? The astronomers and the astrophysicists think that the stars come up from the stellar gas. But we have not failed to find information concerning the composition of this gas; that’s why let us introduce a notion of the relict interstellar gas. Hereunder, we shall understand an ensemble of two elementary particles of the electrons and the protons, which formed such gas at dawn of the material world nascence.
1833. What information has been given to us by the explosions of the so-called supernovae? Nowadays, the explosions of the supernovae have enriched the primary relict interstellar gas by various chemical elements. That’s we let us return to the initial period of the material world nascence when the so-called stellar gas has consisted only of the electrons and, possibly, the protons. As the processes of the formation of the electrons and, possibly, the protons are the beginning of the material world formation, their concentration in the interstellar space results in an explosion and the formation of the stars. As a result, an emerged star will have a radiation spectrum, and the lines of the monoatomic hydrogen will be the main spectral lines of this spectrum. The maximal temperature on the surface of such star will not be the largest one (Fig. 190-2). Its value will be stipulated by ionization energy of the hydrogen atom being equal to 13.60 eV. The radii of the photons (wavelengths), which have such energy, are as follows (s. Fig. 190-1). They are the photons of the beginning of the invisible ultraviolet region. According to Wien’s law, an ensemble of these photons forms the temperature equal (Fig. 190-2).
1834. What processes take place right away after nascence of a star? When the star is born, there begin the processes of turning of a part of the protons (Fig. 190, c) into the neutrons (Fig. 190, d). It takes place at the expanse of absorption of the electrons by the protons. As both the protons and the electrons have unlike electric charges and linearly arranged unlike magnetic poles and their like magnetic poles are directed to each other in case of their approach as the particles with unlike electric charges, these poles limit their approach; as a result, the hydrogen atoms are formed. If unlike magnetic poles of the electrons and the protons are directed towards each other, the proton absorbs approximately 2.51 electrons and turns into a neutron (Fig. 190, d); a remainder of the third electron, which has not formed any particle, is dissolved and turns into the aether. 
1835. What processes accompany nascence of the neutrons? The presence of the protons and the neutrons results in the formation of the nuclei of deuterium and tritium, the beginning of the formation of the nuclei and the atoms of helium. This process is accompanied by the emission of the roentgen photons and gamma-photons in case of the formation of the helium nuclei, not only by the emission of the infrared, light and ultraviolet photons by the electrons, which form the atoms of hydrogen and helium. It is the next important stage in the life of the stars. Within this period, the temperature of the star is increased; it begins to emit the roentgen photons and gamma-photons. The temperature of the star is increased at the expanse of the photon emission by the electrons during the fusion of the helium atoms. 

At first, one electron approaches the proton of the nucleus of the helium atom, and a hydrogen-like helium atom is formed. An ensemble of the photons is emitted; among them, there can be the photons, which have the energy being equal to ionization energy of the helium atoms of 13.60x4=54.40 eV.  The radii (wavelengths) of such photons are known and are as follows (s. Fig. 190-3).

These photons belong to approximately the middle of the ultraviolet region. The ensemble of such photons forms the temperature of 127200 K (Fig. 190-5). It is not s small figure. The physical sense of this temperature means that it corresponds to the beginning of the formation of the helium atom.

1836. What temperature is formed by the fusion process of the lithium atoms? It is known that an electron of the hydrogen-like lithium atom has binding energy with the nucleus of this atom being equal to E=13.60x9=122,40 eV. It is the energy of the photons, which emit the electrons at the initial moment of the formation of the lithium atoms. The radii (wavelengths) of these photons are as follows (s. Fig. 190-4). Their ensemble can form the temperature (s. Fig. 190-6). These photons are near the boundary of the ultraviolet region and the roentgen region (Table 39).

1837. What temperature is formed by the maximal ensemble of the roentgen photons? According to Wien’s law, the maximal ensemble of the photons should give the temperature of nearly million degrees. 

1838. What maximal stellar temperature is registered by the astrophysicists? The astrophysicists register the maximal temperature on the surface of the blue star being equal to 80000 K. It means that at that time the maximal ensemble of the photons, which form the stellar temperature, has the following radii (wavelengths) (s. Fig. 191-1). These photons are nearly from the middle of the ultraviolet region (Table 39), and they appear (as it has been noted by us) in case of the fusion of the helium atoms (Table 39). 

1839. Have the stars the absorption spectra and how are they interpreted? The absorption spectra are encoded in the further stages of the life of the stars. A sequence of an emergence of these spectra should correspond to a sequence of nascence of the chemical elements given in the periodic table. The presence of the protons and the neutrons should result in the successive formation of the nuclei and later on the atoms of the chemical elements, which become more complicated, and their outbreak into the “atmosphere” of the star. As a result, dark strips (the spectra of the absorption of these chemical elements) should appear in the continuous spectrum of such star. For example, the Sun absorption spectrum is as follows (Fig. 191). 
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Fig. 191

1840. Does the sequence of an emergence of the absorption spectra correspond to the sequence of the complexity of the chemical elements in the periodic table? There is no strict sequence of nascence of the chemical elements, which results from the periodic table, in the stellar spectra being registered by the astrophysicist. In particular, almost all absorption spectra have bright lines of the atoms of calcium, which occupies the 20th place in the periodic table; that’s why it seems that the spectral lines of the calcium atoms should appear after the lines of helium, lithium, beryllium, boron, carbon, nitrogen, oxygen, fluorine, neon, sodium, magnesium, aluminium, silicon, phosphorus, sulphur, chlorine, argon and potassium. But they appear after an appearance of the lines of nitrogen and oxygen. 
1841. What is the essence of this unusual phenomenon? It proves that the nucleus of the calcium atom does not undergo the successive formation process; it originates from the ensemble of the nuclei of other simpler chemical elements, which are already born. We have already shown that this process takes place in some living bodies. The nuclei of the atoms of nitrogen, helium and lithium serve as a basis of the formation of the nuclei of the calcium atoms. The nuclei of these elements are formed in the stars, which temperature is the highest one: 80000 K. 
1842. At what temperature do the calcium ion absorption spectra appear in the star? The calcium ion spectra appear when the stars cool up to 20000 K. It is at variance with the existing notions concerning the plasma temperature formation. The calcium atom has 20 protons. If all of them participated in the fusion of its nucleus, they would emit such large quantity of the gamma photons, which, according to Wien’s law, formed the temperature of hundred milliard degrees. But it does not take place. Calcium appears in the process of stars cooling, not in the process of their heating. It appears from this that the larger the number of the chemical element, which forms its spectral line of absorption in the star spectrum, the cooler and the older the star. In the photo (Fig. 191), the spectrum of our Sun is given. It is an absorption spectrum of almost a half of the chemical elements of the periodic table. Sad thoughts come to mind when we analyze this spectrum. The age of our Sun is not young, and it is high time for us to understand it. 

1843. Is there any reason to think that the new theory of microworld will serve as a theoretical basis of nanotechnology? It is the main practical result of the new theoretical foundations of physical chemistry of microworld.

1844. Will the law of the formation of the spectra of the atoms and the ions, which results in an absence of the orbital motion of the electron in the atom, be of importance for future chemistry? It will be very important.

1845. Will new understanding of the physical and chemical processes simplify the study of microworld? Undoubtedly, it will. 

1846. Is it possible to separate future physics of microworld from chemistry of microworld? It is impossible. 

1847. What achievement is the most fundamental one? It is a discovery of the judicial scientific functions of the Unity axiom. 
1848. How long will the mankind use the services of the judicial scientific functions of the Unity axiom? The mankind will use it during the whole time of its existence. 
1849. Will the consequences of the Unity axiom be recognized as the third fundamental generalization in exact sciences? There is every reason for it, but it is not known how history will dispose of it. 
1850. How long will the new generation of physics and chemists master the judicial functions of the Unity axiom? It is difficult to predict it at the age of the Internet.

1851. What damage has been incurred to physics of the 20th century by a prevalence of the persons with the first mathematical education and the second physical education or physical self-education among the physicists-theoreticians? It is difficult to estimate this damage, but it is very significant. 

1852. Will the international community of physicists become mature enough to understand the necessity to increase the number of the physicists who have the first physical education and the second mathematical education, not vice versa? There is no other way out. 

1853. What significant practical result has already been obtained on the basis of the new theory of microworld? It turned out that the significant achievements in the field of the military lasers took place more than 40 years ago in the former Soviet Union under the conditions of a complete absence of the photon theory. It was the first fundamental confirmation of reliability of our photon theory, but the public data concerning it will appear not very soon. 
1854. What significant experimental result has already been obtained on the basis of the new theory of microworld? In our declining years, financing has allowed us to implement the law of power formation of the electric circuit, one of the new laws of new electrodynamics. As a result, the self-rotating generator of electric pulses with thrifty indices of generation of these pulses was elaborated, was made and was tested. 
1855. Can the fate of this invention be predicted? It will become a basis of the future environmental-friendly power engineering and will be introduced into gold scientific pool of the mankind. 
1856. The lecture course “The theoretical foundations of physchemistry of microworld” has already been published; the monograph “The foundations of physchemistry of microworld” ” has already been published as well. A question arises: can the scientific elite, which exists in Russia, understand the necessity of the introduction of the information, which is given in this monograph, into the education process? No, it cannot. History of science proves that a stereotype of scientific thinking is stronger than common sense.
1857. Did the author apply to the management of the country asking to oblige the academicians to review his books? He did it not once. The Ministry of education and Science, which was trusted with this work, informed the author thrice within two years that he will get the corresponding reviews. More than fours years passed, but the reviews failed to arrive.

1858. Are there the publications concerning it in the Internet? Yes, there are. The site http://kanarev.inauka.ru

1859. Will the fate of the author of the new theory of microworld exert influence on its use by the future generations? No, it will not. It has already been published in such volume that its propagation depend on the author no more. As it has no competitors in its proximity to reality and no competitors may come in the nearest 100 years, it will win the mind of the mankind and will be taught at all schools and universities of the world.
1860. How did the management of the Kuban Agrarian University where the author of the new idea of microworld works treat and does it treat his non-professional devotions? The management never reproached him with it and did what it could (this help was very essential for the author) in the publication of the first results of the investigations. But it will be observed that it has never supported the author’s endeavor to teach the students the results of his investigations, and it has created obstacles to it secretly and actively of late years. 
1861. It is known that a new theory can have the results with military applications. Has the new theory of microworld such results? It has. But according to the Russian law on state secrets, only the author knows the details of such results. 

1862. It is clear from the above-mentioned answers to the given questions that there exists a powerful process of a hindrance to a scientific progress in Russia. A question arises: why does the Security Council fail to discuss such significant danger for the future of Russia? An answer to this question grows out of the competence of the author of the new theory of microworld. It will be described by the historians of science.

1863. The majority of the Nobel prizes was given to the American scientists. How will this fact influence the opinion of the future generations concerning the Russian scientists? This fact will be regarded by the future generations of scientists as a big success of the Russian scientists. 
1864. Why will a small number of the Russian scientists who were awarded the Nobel prizes be regarded by our descendants as the failures? Because the future generations will find erroneousness of the majority of the scientific results, for which the Nobel prizes were given, and it will be regarded as a disgraceful historical fact. The American scientists and the Western European scientists will head this disgrace. 
1865. Are there the results of the analysis of the errors of the Nobel laureates? In the process of an elaboration of the new theory of microworld, we analyzed the results of the scientific investigations of some laureates. It turned out that some prizes were given for the erroneous results, which can be seen vividly in the new theory of microworld. 
1866. Is it possible to recollect the erroneous scientific results, for which the Nobel Prizes have been given? We’ll show only a part of them that have been included in textbooks and have formed the erroneous scientific notions of schoolchildren, students and scientists.
“November 9, 1922. 1921 Nobel Prize in physics goes to Albert Einstein for his services to

Mathematical Physics, and especially for his discovery of the law of the photoelectric effect, and

1922 Nobel Prize goes to Niels Bohr for his services in the investigation of the structure of atoms and of the radiation emanating from them”.

An impropriety of Einstein’s contribution in the field of mathematical physics has already been proved, and the essence of his errors is being widely discussed on the Internet. The impropriety of his law of the photoelectric effect has been proved as well, but it is not known to the scientific community as yet. Its essence is described in detail in our monograph. If the components of the mathematical Einstein’s equation, which describes the experimental regularities of the photoeffect, are interpreted correctly, it becomes a mathematical model of the law of the formation of the spectra of the atoms and the ions being discovered by us in the year of 1993.
The essence of Niels Bohr’s error originates from the new law of the formation of the spectra of atoms and the ions discovered by us during the analysis of the regularities of the formation of the experimental spectra of the atoms and the ions. An absence of the orbital motion of the electrons in the atoms originates from this law unambiguously. It is impossible to prove an impropriety of the new law of the formation of the spectra of the atoms and the ions, because it originates from the largest set of the experimental data: from the spectra of the atoms and the ions.

“1929 Nobel Prize in physics goes to Louis-Victor de Broglie for his discovery of the wave nature of electrons”. An impropriety of the notions concerning the wave nature of electrons does not require a special comment. The diffraction patterns being formed by electrons are a result of an interaction of their spins after a reflection from the objects, which form these patterns. The photons diffraction patterns are formed in the same way. A process of their formation is described in detail in our monograph.

“1932 Nobel Prize in physics goes to Werner Heisenberg for the creation of quantum mechanics, the application of which has, inter alia, led to the discovery of the allotropic forms of hydrogen”.

Heisenberg inequality served as a foundation of quantum mechanics in the period when it was created. And only recently a physical essence of this inequality and a limitation of the field of its application have been found. This inequality operates only within the framework of a specific wavelength, for example, of radiation; it loses its influence completely outside this wavelength.

Modern knowledge concerning hydrogen atom and molecules causes bewilderment concerning the introduced notion of “the allotropic forms of hydrogen”.

“1933 Nobel Prize in physics was divided equally between Erwin Schrodinger and Paul Adrien Maurice Dirac for the discovery of new productive forms of atomic theory”. The way, in which these Nobel Prizes have closed the prospects of development of atomic theory, has been described in our monograph and in the books devoted to the detailed analysis of the errors of the laureates of the Nobel Prizes.

“November 15, 1945. 1945 Nobel Prize in physics goes to Wolfgang Pauli for the discovery of the Exclusion Principle, also called the Pauli Principle”. The Exclusion Principle is a result of Niels Bohr’s error concerning the orbital motion of electrons in the atoms and Schrodinger equation, which has strengthened Bohr’s error.

“November 3, 1954. 1954 Nobel Prize in physics goes to Max Born for his fundamental research in quantum mechanics, especially for his statistical interpretation of the wavefunction”. The most successful colligation of these “achievements” belongs to Albert Einstein who said: “God does not play dice”.

“November 5, 1963. Half of the Nobel Prize in physics goes to Eugene Wigner for his contributions to the theory of the atomic nucleus and the elementary particles”. Modern knowledge and theories concerning the atomic nucleus and the elementary particles are far from those one, for which these prizes have been awarded, and it is unnecessary to comment their differences.

“October 21, 1965. Nobel Prize in physics goes to Sin-Itiro Tomogano, Julian Schwinger and

Richard Feynman for their fundamental work in quantum electrodynamics, with deep consequences for the physics of elementary particles”. No consequences happened after the prize was awarded. Quantum electrodynamics proved to be completely erroneous. Only recently we have started a correction of these errors.

“October 16, 1975. Nobel Prize in physics goes to Aage Bohr, Ben Mottelson and James

Rainwater for the discovery of the connection between collective motion and particle motion in atomic nuclei and the development of the theory of the structure of the atomic nucleus based on this connection”. What theory of the structure of the atomic nucleus can be discussed if the latest achievements of orthodox physics describe the nucleus as a drop similar to a water drop?

“October 18, 1976. Nobel Prize in chemistry goes to William Lipscomb for his studies on the structure of boranes illuminating problems of chemical bonding”. These achievements are far from the modern ones, and a wish of chemists to cover over a complete incomprehension of the essence of nature of chemical bonding by a notion of “congeniality to the electron”, which characterizes a complete incomprehension of the essence of the formation of chemical bonding between the atoms of the molecules, makes one smile.

1867. Will this list of pseudoscientific achievement be continued? There is no force that could prohibit the future generation of scientists to analyze the scientific errors of their predecessors, including the Nobel laureates. 

1868. In what way will the scientific community estimate awarding of 2011 Nobel Prize in physics for the results of the investigations concerning the expansion of the Universe? The absolute majority of this community will give no estimation. When the scientists read our answers to the questions connected with “proving” of the expansion of the Universe, they will make a conclusion concerning a prematurity of the Nobel Committee decision themselves, because there is no unambiguous conclusion of proving of the expansion of the Universe. We have already predicted that our information will exert no influence upon an issue of the awarded Nobel Prize for the astrophysical myth of ‘the expanding Universe”. TV will broadcast a magnificent ceremony of the delivery of the Nobel Prizes for the hyped-up scientific achievements in the field of physics and chemistry in the presence of the king of Sweden. As the prizes are awarded for the hyped-up scientific achievements, but the king does not know it, he has nothing to do, but to play the role of the emperor with no clothes who was described in the fairy-tale “The emperor with no clothes” by Andersen, the teller of the fairy-tales. It will be the next scientific fun for the future generation of the earthlings. 
It happened exactly in this very way except for the fact that last years the king of Sweden participated in a Nobel Prize awarding performance during the whole week; this year, the procedure lasted only one day. Obviously, he has understood that the subordinates deceive him and make him award prizes for the hyped-up scientific achievements in physics and chemistry. 
CONCLUSION
We have given only a part of the erroneous information on astronomy and astrophysics. The rest will be added by those who will have new knowledge concerning microworld, without which it is impossible to get the answers to these questions. They are numerous, and they will be stated, and the answers to them, which reflect reality more exactly than the mythological knowledge of the recent generation of astrophysicists who call them scientific knowledge proudly, will be found. Obviously, our ancestors, who thought that the Earth is flat and is supported by three whales, called it in such a way. 
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